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E = 0.5 x I x o?

You can also calculate the energy from the material properties:

E = k x m x (s/r)

where s and r are, respectively, tensile strength and density, and k is a geometric constant for each shape.

Assuming a 28 in wheel with mass m = 2.87 lb, the energy stored is 3.25 J. To find this result:

Calculate the momentum of inertia of the wheel with the formula  I = m x k x r?, where:

I = 2.87 x 1 x 14? = 3.9 lb?ft?.

Plug this result into the formula for the energy stored:

E = 0.5 x I x o? = 0.5 x 3.9 lb?ft? x (2p x 1/s) = 3.25 J.

A flywheel can store energy thanks to the conservation of angular momentum. After the massive rotating

element starts spinning and reaches its final velocity, in the absence of friction, it would spin indefinitely, even

resisting changes in orientation and other external factors. Connecting a shaft to the rotating element allows

for drawing energy when needed.

A flywheel energy storage system has multiple advantages over a traditional electrochemical battery. To list

some:

The flywheel energy storage calculator introduces you to this fantastic technology for energy storage. You are

in the right place if you are interested in this kind of device or need help with a particular problem. In this

article, we will learn what is flywheel energy storage, how to calculate the capacity of such a system, and learn

about future applications of this technology.
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